R ORE NS

http://toitemita.sakura.ne.jp

~arORARDE X
~u DA
s = a+§+c’ =47 ABC IR S F DL, §=ys(s—afs—b)s—c)
A
A
¢ b
B a C

~a Y DARDEX
S:%bcsmA Z, BEERERWNT, UOEIEFORICERTIIZ IV,

sin? A=1-cos’ 4

b? +c? —a? ?
:1— —_—
( 2bc ]

b? +c¢? —a? b? +c? —a?
=|1- 1+
2bc 2bc

_2bc—b2 —c?+d® 2bc+b*+ct-a?

2bc 2he
_ {”2 —(b—c)z}éa2 +(b+c)2}
4b*c?
fa—(-cMar(B-cl-a+B+ca+(b+c)
4b*c?

:(a—b+ch+b—cX—a+b+ch+b+d

4h2c2
:(a+b+cX—a+b—ch—b+ch+b—c)

4b*c?

£,



AR DEFE/ 2R & http://toitemita.sakura.ne.jp

1 \/(a+b+c)(—a+b—c)(a—b+c)(a+b—c)
§S=—bc
2 4p>c?
_\/(a+b+c)(—a+b—c)(a—b+c)(a+b—c)
- 16
(a+b+c)(—a+b—c)(a—b+c)(a+b—c)
= ¥
:\/a+b+c'—a+b+c'a—b+c'a+b—c
2 2 2 2

a+b+c (a+b+c a+b+c a+b+c
= . _a . _b . _c
2 2 2 2

= sl —a)s —b)Ys— <) (Fﬁbw)

2



